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44192610 rfhlu rhtnunurnurturh FCU< bq 700 2,8 4

44161250
StuL[rpfr Utr&phur2php[ hhnurgrlurh

tunlnrlrub,phBhn c0u< nnunl 30000 30.0 1

37451410 Furu! hurpnl |r qlrrrurb F0u< nnunf 15000 15,0 1

37451290 bnr-urpn1|r qtrnurh e0u< nnuul 15000 15,0 1

37451580 .{,nthtpnth qhrrurL ccu< nnunl 30000 30,0 1

uLLauurdbf€
15811120 l*g VL bq 310 348,1 1122.8
15851 100 Uurllurpnh VL hq 279 36.9 132,2
0321 1300 FphLd. C2 bq 319 43,8 137.3
15616000 Ztnb urdud urrr/qnhltt u./ 7> hq 580 115.1 198,5
15331 153 fluut UL Uc 670 68,2 101,8
1541220C Fnr-uurturh lnrn CZ hurn 590 80,4 136.3
1511215C Zutdh ilhu urilpnnquhurh CZ qq 1210 226.4 187.1
1511112C Surdurnh rlhu nhnurhurh rhulhnr-h ttq 2550 249.7 97.9
15313000 trunurn$ht cz qq 137 48,5 353.8
15811120 Zurg qZ qq 324 370.5 1140
15851 100 Uur\urpnh q, qq 33C 41,58 126
0321 1300 FpfLd. q2 bq 40c 55.2 138
15616000 Ztt4h ur&urd urr/qnhllr ur/ q2 hq 750 142.5 190
15331 153 fluul q2 qg 750 95.2 127
15412200 Fmuurltrurh pr4 q2 hurn 700 96,6 138
15112150 ludh rthu urilrnnquhurh qz uq 1350 256,5 19C
15111120 iurdurnh rlhu tnhnurLurh rhunhntb qZ qg 3000 306.0 102
15313000 trurnrnn$hr qz trc 160 60,64 379
15333100 urnr.lurnh ilurEntt +z hq 840 42,8 51
15512000 BBrlurutn urhnurturh +z bq 1050 53,5 51

uctuusuLeLbf
45214200 Chtrph nhp.Lnnnqilurh rucluurururhptrhn Fnu< 500000 500,0 1

71241200 trurhr.uqbdurh urtluurururtrphhn Feu< 14000 14.0 1

ourluSnr.f€nr'L
65310000 h ht rnnurh urhmrat urh pur etunr-rf ccu< nnurt[ 105000c 1050.0 1

651 1 1000 fuilhlnr- pnh purrhntd FCU< nnruil 10000c 100.c 1

65210000 Qurqh purulumtl ccu< nnun[ 320000c 3200.c 1

65200000 qurqh urhh, uut uruurntnr-rf ,hnrhq.urhdu. Fnu< nnurd 150000 142,1 1

50313200 alururdhtrurhurLnn uurnphnh ururhqurhrftutr FCU< nnunl 54000 54.0 1

48411200 ZurtfurLurnqlurrhh Eurn./tbhho/ FCU< nnuni 3000 3,0 1

72410000 Tlhtn.nhqhuun FOU< nnunl 1 1000 11,0 1

22120000 fdhnroh hurt nurnurnnr-rarnh ccu< nnurt[ 12000 12,0 1

50312000 lurilurhurnqrurrhh uurnphnh uurhru . brunurr FCU< onunf 15000 15,0 1

30121370 Qhnr.turhurrmh. hurnuurhhnh ruurhru.burn. ecu< nnuril 105000 455,0 1

64211100 Zhnurlunuurlhh brunurlntralnr-h FEU< nnunf 80100 80,1 1

641 1 1000
{muurutl}rh burn.lluqrlurE purqrhpfr h
ru urnnhnurturh rfturfnrr h hhur cou< nnuni 9900 9,9 1

90500000
rlhnunnfrqurgh-lh It pu{mtrLhp}r hhrn \urqrlurb
burnurtnrBtnttr FCU< nnurt[ 50000 50,0 1

99000000 qhil-d rhurhnhuuronn burluuhn urcluurtnunlurnd. FOU< nnrutl 64354300 64354.3 1

Qnphnh rnqurtrunnt $nhn Fnu< nnutl 1 14900 114.9 1

cL'IUUbLe 73235.3


